E35EEALRFE—YREIRFBELT 1 —RY 7 MMEBIKXE (R3.12.5)

A & AEREEEBANE)
A K4 757% 1| 2 | 3 |B=RERL
1| Bk H® | =setEsy  ZEALT—2 @ | @|2/2| 1
2 | By FH YA 0 1(0/2| 3
3|iEK LES mird L 0| @ 1/2| 2
B K% V774 4 | 5| 6 | 7 |NERL|NEAL
4 |KtER EH B33 | HALT (-2 @|@|1|2/3] 2
5| HE JIHE |[&tRv7Fq—2 | =>¥aq | 0 0| 0 |(0/3| 4
6| B/E A& BERT4L | BERwyva| 1 | @ 1 (1/3] 3
7 EBS LR TN—=2h4 @ @ @ 3/3| 1
C K4 7774 8 | 9 |10 (B%=E|IEML
8 |—kH W% L 2 Bl @ | 0(1/2| 2
9| =@ mH BT =25 77 3 010/2| 3
10| =% HH D515 EALT+—2| @ | @ 2/2| 1
D K% 7774 11 | 12 | 13 |B$ER(IEfL
11| fph FR =] 7Ly X @ | @|(2/2] 1
12| M 7R HESTS 1 @ |1/2| 2
13| Wl BiE | 7r—zn4 B35 3|1 0/2| 3

A &




E K4 V77% 14 | 15 | 16 |B=R| AL
14| B8 & Tn—2h4 @ | @|2/2] 1
15| #ih /B |E®T=zs57| E&Yaz7 | 1 1(0/2| 3
16| H#E @EEX | ZALF+—2 [K1v+257| 3 | @ 1/2| 2
F K4 V77% 17 | 18 | 19 |Bs=E|IEfL
17| E WA =FY 7 b 2 | 01(0/2| 3
18| =iz AIEF D383 @ 0 |1/2| 2
19| % 88 TEREE @ | ® 2/2| 1
G K% 774 20 | 21 | 22 |B=R|IEfL
20| ik =B Emﬁ#y;-?4— ERL T 1 —2R @ | 3|1/2| 2
21| =% W IR 2 A 1 11(0/2| 3
22| #F* Lt | mwvaz7 =06 @ | @ 2/2| 1
H K% 7774 23 | 24 | 25 |BER|NEfL
23 ST kA | wews  |FUIIV7IN | @ | @ [2/2) 1
24| hoEE HH | =wva=7 E 0 2 0/2] 3
25| s KIg 2E=773Y=X 1| @ 1/2| 2




B #&
A K4 757% 26 | 27 | 28 B |NE(L
26| EA KWL | #rELF4—2 | BEzRw1L 2 | 01(0/2| 3
27| fulh TS SIRERK R @ 3 (1/2| 2
28| HE IS 2R @ | @ 2/2| 1
B K4 7774 29 | 30 | 31 |BH=R(NEfL
29| g iEEI =R Y- | HELT4—R @ | @ |2/2| 1
30| EF EE ERSTS 1 @ [1/2] 2
31| FNl =M@ HERZA L R 1|1 0/2| 3
C K4 7774 32| 33 | 34 [B$ER|NEAL
32| ML T | &xBELF4—2 | dtbbiE 0| @®|1/2]| 2
33| HE XAR ERSTS @ @ |2/2] 1
34| B RRE | =zvvada yvayy | 0| 2 0/2| 3
D K4 757% 35| 36 | 37 [B$=R|NEL
35| &L KH By LT -2 @ | @ |2/2| 1
36| P ERE |x4—-77IV-X #ErELF4+—Z| 3 @ (1/2| 2
37| KAEE HE | ZALT1-—2 FIF4T 1| 2 0/2| 3

B #&




E K4 9774 38 | 39 | 40 |BER|NEAL
38| kk /M| BmHELTI—Z WFR <A I @ 1 |1/2| 2
39| bWFx =R HESTS 3 1)0/2| 3
40| ;IS8 &4 D515 EALT4+—-2 | @ | @ 2/2| 1
F K4 774 41 | 42 | 43 |BER| AL
A1 A58 AR | #tBELF4—2 | BERRYYa @ | @ |2/2] 1
42| BB B | zwesmss |00 o780 2 |0/2| 3
43| AR Fu BEYLT -2 0| @ 1/2| 2
G K4 757% 44 | 45 | 46 || NEfL
44| fBlh  NMNE I E FIF4T @ | 1(1/2| 2
45| FN I EEELT 4 —R 3 2 (0/2| 3
46| tk it 7 T4 R ER @ | @ 2/2| 1
H K% 977% A7 | 48 | 49 |BEER| AL
47| FF HI MW 2 A1 BT Y —> 0|@®|1/2| 2
48| &h Eh HRSTS @ @ (2/2] 1
49| 1BH Ei= =HRER BEERED 1|0 0/2| 3




C #%
A K% 7774 50 | 51 | 52 | B | IEfL
50| &K | 2K D315 AEAvy¥a 1| 1]0/2| 3
51| #& A |m@mYULT«—-2 | mWIY-> | @ @ |2/2| 1
52| #E HFO L2 R @| 0 1/2| 2
B K4 7774 53 | 54 | 55 | R | IEfL
53| 14 | HE |=syrLF4—x | BERe L @|@|2/2| 1
54| FE | EkR B7z=ysSTC 1 110/2| 3
55| IRt | WM |ExELF4—-2 |[m@YrLF-2 | 1 | @ 1/2| 2
C K4 7774 56 | 57 | 58 |R&=R | IEfiL
56 [LEiIE =E EEBELT 4 — R @ | @|2/2| 1
57| BRER KK BERZAL mELF4—2 | 0 @ |1/2| 2
58| #0 HE b DIE =y LF—-2| 0 | 1 0/2| 3




